

On the Vepstas Representation for the Riemann Zeta Function

R. Cruz-Santiago, J. López-Bonilla and S. Vidal-Beltrán

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 5, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We show that the Vepstas expression for the Riemann zeta function implies interesting relations between Stirling, Harmonic and Bernoulli numbers and the Stieltjes constants.

Key words: Riemann zeta function - Stirling numbers - Stieltjes constants - Bernoulli numbers

INTRODUCTION

Vepstas [1] obtained the following representation for the Riemann zeta function [2]:

$$\zeta(s) = \frac{s}{s-1} - \frac{1}{2} - s \sum_{k=0}^{\infty} (-1)^k \binom{s-1}{k} a_k, s \neq 1, \quad (1)$$

which gives the value $\zeta(0) = -\frac{1}{2}$. On the other hand, we have the expansion [2]:

$$\zeta(s) = \frac{1}{s-1} + \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} \gamma_r (s-1)^r, s \neq 1, \quad (2)$$

where the γ_r are the Stieltjes constants; from (2) for $s = 0$:

$$\sum_{r=0}^{\infty} \frac{\gamma_{2r+1}}{(2r+1)!} = \frac{1}{2} - \sum_{r=0}^{\infty} \frac{\gamma_{2r}}{(2r)!}. \quad (3)$$

Now (2) for $s = 2$ implies the relation:

$$\sum_{r=0}^{\infty} \frac{\gamma_{2r}}{(2r)!} = \zeta(2) - 1 + \sum_{r=0}^{\infty} \frac{\gamma_{2r+1}}{(2r+1)!},$$

where we can apply (3) to deduce the properties:

$$\sum_{r=0}^{\infty} \frac{\gamma_{2r}}{(2r)!} = \frac{1}{2} \zeta(2) - \frac{1}{4} = \frac{\pi^2}{12} - \frac{1}{4}, \sum_{r=0}^{\infty} \frac{\gamma_{2r+1}}{(2r+1)!} = \frac{3}{4} - \frac{1}{2} \zeta(2) = \frac{3}{4} - \frac{\pi^2}{12}. \quad (4)$$

We know the following connection between a binomial coefficient and the Stirling numbers of the first kind [2-5]:

$$\binom{s-1}{k} = \frac{1}{k!} \sum_{r=0}^k S_k^{(r)} (s-1)^r, \quad (5)$$

Then (1) acquires the structure:

$$\zeta(s) = \frac{1}{s-1} + \frac{1}{2} - s \sum_{r=0}^{\infty} q_r (s-1)^r, \quad (6)$$

Such that:

$$q_r \equiv \sum_{k=r}^{\infty} \frac{(-1)^k}{k!} a_k S_k^{(r)} \therefore q_0 = a_0. \quad (7)$$

The comparison of (2) and (6) gives the value:

$$\gamma_0 = \frac{1}{2} - q_0 \therefore a_0 = \frac{1}{2} - \gamma_0, \tag{8}$$

where $\gamma_0 = 0.5772\ 1566\ 4901\ \dots$ is the famous Euler-Mascheroni's constant [2, 6-9], thus from (1) for $s = 2, 3, 4, \dots$ [1]:

$$a_1 = \frac{1}{2} \zeta(2) - \gamma_0 - \frac{1}{4}, a_2 = \zeta(2) - \frac{1}{3}(\zeta(3) + 2) - \gamma_0, a_3 = \frac{3}{2}\zeta(2) - \zeta(3) + \frac{1}{4}\zeta(4) - \gamma_0 - \frac{23}{24}, \dots \tag{9}$$

with the recurrence relation:

$$q_{n+1} + q_n = \frac{(-1)^n}{(n+1)!} \gamma_{n+1}, n \geq 0, \tag{10}$$

That is:

$$q_0 = -\gamma_0 + \frac{1}{2}, q_1 = \gamma_1 + \gamma_0 - \frac{1}{2}, q_2 = -\frac{1}{2}\gamma_2 - \gamma_1 - \gamma_0 + \frac{1}{2}, \dots; \tag{11}$$

The general solution of (10) is given by:

$$q_n = (-1)^n \left[\frac{1}{2} - \sum_{r=0}^n \frac{\gamma_r}{r!} \right], n \geq 0. \tag{12}$$

It is immediate the inversion of (7):

$$a_r = (-1)^r r! \sum_{k=r}^{\infty} q_k S_k^{[r]}, r \geq 0, \tag{13}$$

Involving Stirling numbers of the second kind [2-5]. We know [2, 3] that $S_k^{[1]} = 1, k \geq 1$, then from (13):

$$\begin{aligned} a_1 &= -\sum_{k=1}^{\infty} q_k = -[(q_2 + q_1) + (q_4 + q_3) + (q_6 + q_5) + \dots], \\ &\stackrel{(10)}{=} \frac{\gamma_2}{2!} + \frac{\gamma_4}{4!} + \frac{\gamma_6}{6!} + \dots = \sum_{r=0}^{\infty} \frac{\gamma_{2r}}{(2r)!} - \gamma_0 = \frac{1}{2} \zeta(2) - \gamma_0 - \frac{1}{4}, \end{aligned} \tag{4}$$

In agreement with (9).

Vepstas [1] deduced the values:

$$\sum_{r=0}^{\infty} a_r = \ln(\sqrt{2\pi}) - 1, \sum_{r=0}^{\infty} \frac{a_r}{2^r} = 2 - 3 \ln 2, \tag{14}$$

Thus (13) and (14) imply the relations:

$$\sum_{k=0}^{\infty} (-1)^k q_k = \ln(\sqrt{2\pi}) - 1 = -0.0810\ 6146\ 6795 \dots, \tag{15}$$

$$\sum_{k=0}^{\infty} \frac{1 - 2^{k+1}}{k+1} q_k B_{k+1} = 1 - 3 \ln \sqrt{2} = -0.0397\ 2077\ 084 \dots,$$

Involving Bernoulli numbers [2-5]; in the deduction of (15) were applied the identities [2, 3, 10]:

$$\sum_{r=0}^k (-1)^r r! S_k^{[r]} = (-1)^k, \sum_{r=0}^k \frac{(-1)^r}{2^r} r! S_k^{[r]} = \frac{2(1 - 2^{k+1})}{k+1} B_{k+1}. \tag{16}$$

Now we use (7) for $r = 1, 2$ and (11) to obtain the expressions:

$$\sum_{k=1}^{\infty} \frac{a_k}{k} = \frac{1}{2} - \gamma_0 - \gamma_1, \sum_{k=2}^{\infty} \frac{a_k}{k} H_{k-1} = \frac{1}{2} - \gamma_0 - \gamma_1 - \frac{1}{2} \gamma_2, \quad (17)$$

Involving Harmonic numbers, where we employ the values:

$$S_k^{(1)} = (-1)^{k-1} (k-1)!, S_k^{(2)} = (-1)^k (k-1)! H_{k-1}. \quad (18)$$

REFERENCES

1. Vepstas, L., 2004. A series representation for the Riemann zeta derived from the Gauss-Kuzmin-Wirsing operator, <http://www.linas.org/math/poch-zeta.pdf>.
2. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London
3. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
4. Spivey, M.Z., 2019. The art of proving binomial identities, CRC Press, London.
5. López-Bonilla, J., J. Morales and G. Ovando, 2020. Bernoulli, Stirling and Lah numbers, American-Eurasian J. Sci. Res., 15(2): 33-36.
6. Havil, J., 2003. Gamma: Exploring Euler's constant, Princeton University Press, New Jersey.
7. López-Bonilla, J. and S. Vidal-Beltrán, 2017. An expression for the Euler-Mascheroni's constant, Comput. Appl. Math. Sci., 2(1): 7-8.
8. López-Bonilla, J. and R. López-Vázquez, 2018. On an identity of Wilf for the Euler-Mascheroni's constant, Prespacetime J., 9(6): 516-518.
9. Hernández-Aguilar, C., J. López-Bonilla and R. López-Vázquez, 2018. Identities of Choi-Lee-Srivastava involving the Euler-Mascheroni's constant, MathLAB J., 1(3): 296-298.
10. Hansen, E.R., 1975. A Table of series and products, Prentice-Hall, Englewood Cliffs, New Jersey.